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JIE {3z K4 ouT | IN [#BX|H D| NET S
1 BEE #¥—BF | 45 49 94 | 26.4 | 67.6

2 =25 &— 42 47 89 | 19.2 | 69.8

3 Tigk BB 41 45 86 | 152 [ 708

4 ik BRA 39 41 80 88 | 71.2

5 (e 39 43 82 | 104 [ 716

6 IND EE 35 39 74 24 | 71.6 BGE
7 KT ¥R 40 44 84 12 72

8 A _FF 45 44 89 16 73

9 BB 5 39 43 82 8.8 | 73.2 NP
10 =& BER 43 47 90 | 16.8 [ 73.2

11 jna & 39 43 82 8.8 | 73.2 NP
12 =i S 40 43 83 96 | 73.4

13 kg E= 46 51 97 | 232 [ 738

14 Ik & 39 46 85 | 112 [ 738

15 A% BE 40 41 81 7.2 | 738

16 TiF Bk 42 40 82 8 74

17 =28 RF 48 50 98 24 74

18 FE #HX 41 47 88 | 136 | 744

19 &K B— 42 46 88 | 136 | 744

20 puntz NI 2 73 38 43 81 6.4 | 74.6

21 ik BT 37 44 81 6.4 | 746 NP
22 XE XX 43 43 86 11.2 | 74.8

23 k= 41 50 91 16 75

24 EH ®BZ= 39 48 87 12 75

25 | B EFFEX | 44 48 92 | 168 | 75.2

26 EF E— 42 46 88 | 128 | 75.2

27 MK Ea 44 46 90 | 144 | 756

28 SH BE 37 47 84 84 | 75.6

29 NESE 40 47 87 | 112 | 758

30 W B 40 41 81 48 | 76.2

31 BH m= 41 45 86 96 | 76.4

32 k= Z\AR 40 47 87 | 104 | 766 NP
33 BAX =i 42 46 88 112 | 76.8

34 Kl ZE=8B 42 50 92 | 152 | 76.8

35 BE ABE 44 53 97 20 77

36 | KE #H—HEF | 34 47 81 4 77

37 Y& KA 41 42 83 56 | 77.4

38 WwHE B A1 54 95 | 176 | 774

39 | PHth {F—EBF | 51 48 99 | 216 | 774

40 BEA EBE 42 46 88 | 104 | 776

41 g 8 46 43 89 112 | 77.8

42 =k 2\ER 42 47 89 | 112 [ 778




43 NI R 41 52 93 | 152 | 778
44 Bk &2z 40 46 86 8 78
45 =Ml 2&5h 45 51 96 18 78
46 | FH#= F— | 40 51 91 12.8 | 78.2 NP
47 R % 41 46 87 8.8 | 782
48 [RH 5REH 42 45 87 88 | 782 NP
49 oA =T 46 53 99 | 208 | 78.2
50 N B— 43 49 92 | 136 | 784
51 ME EE 44 47 91 12 79
52 TR = 42 49 91 12 79
53 XH B 48 60 108 | 28.8 | 79.2
54 TiE 2= 51 53 104 | 248 | 79.2
55 R B 42 47 89 96 | 79.4
56 | —<5I K —[# 44 49 93 13.6 | 79.4
57 BIEH X 47 54 101 | 216 | 794
58 RESERIEIN 47 59 106 | 264 | 79.6 NP
59 Foh 17 47 51 98 18.4 | 79.6
60 B % 43 49 92 12 80
61 INE EBHE 41 55 96 16 80
62 WA X 48 57 105 | 248 | 802
63 Bl BKF 43 46 89 8.8 | 802
64 | FH= SiF | 46 52 98 | 176 | 804
65 NN TN 41 49 90 96 | 804
66 Jek B 39 47 86 56 | 80.4 NP
67 s e 42 46 88 7.2 | 80.8
68 X =F 49 48 97 16 81
69 b EiER 39 58 97 16 81
70 5h BEH 45 49 94 | 128 | 81.2
71 R N 45 45 90 8.8 | 81.2
72 mE &R 44 51 95 136 | 814 NP
73 BEH =4 47 49 96 | 144 | 816
74 HiE KX 44 52 96 | 144 | 81.6
75 MO EF 46 50 96 | 144 | 816
76 Tk B2 46 47 93 | 112 [ 818
77 BB TEE 40 53 93 | 112 [ 818
78 HE FIE 43 46 89 7.2 | 81.8
79 ik &1 46 52 98 16 82
80 | X¥ THKE | 44 50 94 12 82
81 ELNEE3 43 48 91 8.8 | 822
82 Bt X 42 53 95 | 128 [ 82.2
83 e IR 47 52 99 16.8 | 82.2
84 EF X 56 55 111 | 288 | 82.2
85 | Z=EB EEFAD | 48 48 96 | 136 | 824
86 =& 1EA 44 46 90 7.2 | 8238
87 MHE BEF 46 53 99 16 83
88 firfl == 42 54 96 | 12.8 [ 83.2
89 s alicS 48 49 97 | 136 | 834




90 =5 K- 43 48 91 72 | 838
o | "N =X | 52 56 108 24 84
92 BE A 46 54 100 16 84
93 AEF BEX 47 49 96 11.2 | 84.8
94 A3 MER 47 54 101 16 85
95 8HF = 47 53 100 | 144 | 856
96 AR =— 50 61 111 | 248 | 86.2
97 INEF BT 52 55 107 | 208 | 86.2
98 | PaER FHEZE | 47 57 104 | 176 | 86.4
99 | =& RAM | 50 60 110 | 232 | 86.8
100 | FEH BGh 49 51 100 12 88
101 Bk — 50 50 100 | 11.2 | 888
102 NS BT 48 52 100 | 10.4 | 89.6
103 | #EK 1FFE 55 57 112 | 208 | 91.2
104 | =H IE— 49 53 102 | 88 [ 932
105 BHA i 54 56 110 16 94
106 m BHX 50 67 117 | 216 | 954
107 = 1B1E 52 62 114 16 98
108 EZE FH] 55 66 121 | 224 | 986
109 Bk BT 61 60 121 | 176 | 1034 NP




